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2. Identify each set of protons or groups as homotopic, heterotopic, enantiotopic, or diastereotopic (1 P\ tach)
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4. Label each transformation as stereoselective, stereospecific, both, or neuther OL'\\ ®
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The specific rotation of L-alanine in water (at 25°C) is +2.8. A chemist prepared a mixture of L-alanine and
its enantiomer, and 3.50 g of the mixture was dissolved in 10.0 mL of water. This solution was then placed
in a sample cell with a pathlength of 10.0 cm and the observed rotation was +0.78. Calculate the % ee of
the mixture.
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Using the steady state approximation, derive the rate law for the following reaction. The second step C->D
was found to be the rate determining step.
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Predict the product with correct regiochemistry and stereochemistry for the following Diels-Alder reaction.
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For each reaction shown below, circle all of the appropriate kinetic isotope parameters that apply.
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